10.3 The nth Term Test for Divergence
Calculus

For each of the following series, determine the convergence or divergence of the given series. State the

reasoning behind your answer.
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10.3 The nth Term Test for Divergence Test Prep

7. The nth-Term Test can be used to determine divergence for which of the following series?
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(C) TandII only

(A) IIonly (B) III only (D) I, 11, and I1I

8. The nth-Term Test can be used to determine divergence for which of the following series?
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(A) Ionly (C) Iand 1l only (D) L1II, and III

(B) II and III only

9. Ifa, = cos (%) forn = 1,2,3, ..., which of the following about Z a, must be true?
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(A) The series converges and lim a,, = 0. (B) The series diverges and lim a,, = 0
n—-oo n—-oo

(C) The series diverges an@ (D) The series converges and lim a,, # 0
n—-oo n—-oo




